Overview:
Algebra: Solve
$$3x^2 + 2x - 1 = 5$$

- coefficients are numbers, unknown
is a number.
Calculus: Compute derivations and integrals
d $(5xe^x) = \dots$
f $5xe^x dx = \dots$
f $5xe^x dx = \dots$
Linear Algebra Solve $Ax = b$
 $\binom{\alpha_1, \alpha_1}{\alpha_2} \binom{x_1}{x_1} = \binom{b_1}{b_2}$

Applications of DE are everywhere in
math & science:
- at their core, OPE is merely provide
a description of how one quanhity
(y) changes over time (t).
- Contrast with Partial DE, which
describe how a quantity (u) changes
with regard to seven variables (t, my).
Ex:
$$\frac{3^2n}{3t^2} = c^2 \left(\frac{3^2n}{3x^2} + \frac{3^2n}{3y^2}\right)$$
 Partial
derivations
Toward end of course, or MATH 263.
St order equations
General form:
(b) $\frac{dy}{dt} = f(y,t)$
(x) $\frac{dy}{dt} = f(y,t)$
a function of the function y
and t: Ex: y|t|² + t

Most of the time,
$$l \neq l$$
 cannot be solved
without the belp of a computer.
IF however we have
 $\frac{dy}{dt} = gltl$,
then both sids can be integrated:
 $\int \frac{dy}{dt} dt = \int gltl dt + c$
 $\int \frac{dy}{dt} dt = \int gltl dt + c$
 $\int \frac{dy}{dt} dt = \int gltl dt + c$
 $\int \frac{dy}{dt} dt = \int gltl dt + c$
 $\int \frac{dy}{dt} dt = \int gltl dt + c$
 c is a constant that can be determined
from an initial condition
 $Ex: y(a) = b$.

$$Exi \quad \frac{dy}{dt} = t^{3} + \cos t$$

$$y(0) = 1$$

$$= \gamma \quad y(t) = \int (t^{3} + \cos t) dt + c$$

$$= \frac{1}{4}t^{4} + \sin t + c$$

$$y(0) = 0 = 1 \quad = \gamma \quad c = 1$$

$$= \gamma \quad y(t) = \frac{1}{4}t^{4} + \sin t + 1$$

$$L_{1}vienr \quad vs. \quad Nonlineur \quad Epuntions$$

$$L_{1}vienr \quad y' + o(t) = b(t)$$

$$Nonlineur \quad Epuntions$$

$$L_{1}vienr \quad y' + (yy) + c(t) = b(t)$$

$$Nonlineur \quad y' + (yy) + c(t) = d(t)$$

$$L_{1}vienr \quad equations \quad ac \quad dt \quad the \quad form \quad Ly = f, \quad where \quad L = \frac{d}{dt} + a(t)$$

$$= \gamma \quad L(c,y_{1} + c,y_{2}) = \frac{d}{dt} (c,y_{1} + c,y_{2}) + a(t)(c,y_{1} + c,y_{2})$$

$$= c_{1}y'_{1} + a(t)c_{1}y_{1} + c_{2}y_{2} + a(t)c_{2}y_{1}$$

$$= c_{1}L'_{1} + a(t)c_{1}y_{1} + c_{2}y_{2} + a(t)c_{2}y_{1}$$

$$= c_{1}L'_{1} + a(t)c_{1}y_{1} + c_{2}y_{2} + a(t)c_{2}y_{1}$$

$$Ex: y' + a(t)y = 0$$

$$y(t_0) = y_0$$

$$= 2 \frac{d}{dt} [v_0|y] = -a(t)$$

$$\int_{t_0}^{t} \frac{d}{dt} [v_0|y(t_1)] dt = -\int_{t_0}^{t} a(t) dt$$

$$|v_0|y(t_1)| - |v_0|y(t_0)| = -\int_{t_0}^{t} a(t) dt$$

$$= 2 \frac{1}{y(t_1)} = \frac{1}{y_0} e^{\int_{t_0}^{t} a(t) dt}$$

$$= 2 \frac{1}{y(t_1)} = \frac{1}{y_0} e^{\int_{t_0}^{t} a(t) dt}$$

$$= 2 \frac{1}{y(t_1)} e^{\int_{t_0}^{t} a(t) dt}$$